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1. Write your Roll No. on the top immediately on receipt
af this question paper.
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There are eight guestions in the question paper.

Answer any five questions.
3. AN gquestions CHITY equal (15) minrks.

4 Answers may be written either in English or Hindi:
but the same medinm should be used throughout the

paper.
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of this question paper.

2. Attempt any four questions
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L. (a) How can National Savings, Privite Savings and
Government Savings be calculnied? What will
happen if government deficit increasss?

(b) What precautions should be kept in mind while
ealeulating national income?

{c) What is GDP deflator? How is it different from
congumer price index? How does CPI inflation
oversiate the increases in cost of living?

(d} With the help of data given below, calculate the
rute of inflation for each year from 2014 to 2017,
considering 2013 as base:

Year | 2013 2014 | 2015 2016 1 2017
CPI Ll 615 630 545 60

(5.75,4.5.4)
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Year | 2013 2004 | 2015 2016 |27
Pl 600 615 650 645 660

2. {a) How is the rate of interest determined by the
demand and supply of money (assuming no banks
in economy)? What happens 1o the interest rate
if

{i} Maminal income falls

(ii} Central bank chooses for expansionary
open market operation.

(b} “What are determined in bond markets are not
interest rates, but bond prices. In this context
distingiish belween expansionary and contractionary
open market operations. How do they affect the
balance sheet of central bank and bond prices and
interest rates?

(e) The following financial market data is given for
an soonomy (in ropees); Currency = 5000;
Reserves = 1000; Deposits = 10000, £

o
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(i) Calculate size of money multiplier

(ii) Monetary Base

{iii} Moncy Supply (7.6.5.75)
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{a) Explain the concept and causes of Hyperinflation?
Suggest policies that the government can use to
control Hyperinfletion.

{h) Comment on the following statements, Justify your

mnswer.

{i} The Inflation Tax is always equal to
seigniorage,

{ii} An increase in the rate of interest leads to
on inerease in the price of bonds.

{e) Cafoulote the money growth rate required to
finance the budget defieit of Rs 10000 in sn
econamy, Given the following information :

Income (Y) = Rs, 100,000
MNominal Money Supply (M} = Rs, 80000
Price Level (P} = Rs. 20 (7.6,5.75)
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(d) The following sysiem of equations defines

U= u(x,y) and v = v(x.y) as differentiable
functions of x and ¥ around the point
P=(x.%uv)=(11,10):

(%) (i) w1 AR Y = 10KL - JK - JL "0 K =021+ 5
ML o= 5e v ¥ offeds = w oW K S L
= fead= o e = @ i dn vy F e

(4 2v) + gyt = Dy — gy o) w S T T W s e e
(1 + 0l = zly = gx v yiu? &
Differentiate the system and find the values of u, (i) W = riny), x = His, )7y = yit) | B
u;,. v, and u]'r. Bam #;

L0y =2, w(LO)==1, x(1.0)=7,

te) (i) For the function, f(x,y.z}efﬁ’;—z]-. Y =3, w(1)=0, ¥'(0}=4

determine whether the function | increases s R SRS e
or decreases al'a specified point Pa={L51)
when one variable increases, while the athers
are [ixed,

LD =6, r{1.0)=-2

-;—' at = [, t=0 = e S
(i) Assume that the equation e 2y —dy=¢

implicitly defines v as a differentinble function

of x. Find a value of the constant ¢ such that () Jn o T - fy) = In Jxteyt
0} =1 and find the slope and the equation
of the tangent at the point (x,¥) = (0,1, (i) et f o & (00 P e ¥ W

t?wﬁnifffﬂﬁ.‘#ﬁﬂumi?
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(1 + 29F + xy? = 2u — yy
(1409 = 2y = gx + yiyt
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(a) Consider the function f{x,y) = %7 = ¥ - xy - X’
Find and classify its critical points. Find the domain
is concave and find the largest value of
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(b) State the necessary conditions for the solu

function wﬁmx} - Eiﬁ’wﬂi{-‘.-

(6) Let flx,y) = (¥ — axy)e’ be o function af
variables with mnsmmﬁ'ﬂ&

ﬁ;mwmrwmummm
each of them if it is a local maximum point,

b local minimum point or & saddle point.

(i) Let (x*,y*) be the critical point where
x*20 and let P{a) = fix*y*). Find
%iﬂ and show that if we define

Firstly, ;> 0, £ > 0;
~ Secondly, 7, < 0, fy < 0; and

the level curve y = g(x) is defined implicitly
¢ where < is a constant. The function
at all level curves are strictly convex.
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(i) Does the optimal solution change if the price
of Feed | increases from 100 Rs per kg to

3. Attempt any one of the following 140 Rs per kg, with all other data unchanged?

(8) To feed his stock a {

(b} (i) Solve the following problem :
of foed, mﬁmw i

) Ix+2ysh
el &. mup' spectiv max 3x + dy subject to {;;é:
wmmtmmw&ﬁhunm ] '

two feeds are given in the following table : xz0, y20

Nutritional Elements (i} Compute the increase in the criterion rmﬁw
(i per kg) if the first constraint changes to 3% +2y < 7,
A | B C | Cost (Rs. per kg) (iii) Compute the increase in the “eriterion
Feed! [ 3 [ 7 [ 3 100 futetion if the second cansiraint changes to
= %+ dy<5.
- Feed 2 2 2 5 40

P.TiOL
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obtained in (i),
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(iv) Prove using (ii) and (iii) that if (x,y) is|
s n the arginal prablem the the |
criterion function can never be larger than
the ”HH‘II value of the u’hprimr .funni";
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(iv) t_x.v} ki e imi A W (i) The demand and supply functions in the
(R o) @ v 3w
A, 58 (i) e (i) 0w
Lo dl

Q,=4- ¥
Q=1+ 03P,

Q,, and Q,, are the quantity demanded and
and P, represents the price in time period t.
Find the expression for P, in terms of P, in
the equilibrium. Solve the corresponding
difference equation. Is the time path of price
oscillatory/non-oscillatory and convergent/
divergent? Ilustrate using & graph. Consider
Bintigm (4.4)

4. Attempt any two of the rauninigga (8+2=16)

(8) () Find the area of the region between the
curves: v, =3 —6x+ 8 and y, =2 +dx + |
row x 4

(ii) Show that y(1) = 2¢" + | is the solution to.

the differential equation % % By~ fowiser

¥(0) = 3. Does ¥(t) converge to a steady

e i {c) (i) Find the munl solution of the dlﬁf_ﬁmﬂil

equation P = S[D(P) — S(P)] where 6> 0
‘and D(P) = &~ bP gives the demand of s
‘commodity and S(P) = & + P gives the
“H"!"-b- a and {5 are positive constants.

(b} (i) Let the rate of investment be given by the
function, I(t) = 1202, If K(0) = 25, find the
time path of eapital stock. Find the amount
af capital aceumulation during the time
interval [1.3]. cther it is stable,

[

PT.O.

Determine the equilibrium state and examine.
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| Use sumﬂalu disgrams.
; () Average Ewm{#ﬂ*}.wld (MR),
‘ Average Cost (AC) mm-:gmm (MC) of o
firm. umtuil,' monopoly mﬁfﬂm
e v
L AR = 140 - 2 Q 4
MR - 1:1 -4Q :
" AC -sq'ﬂ.fl;;
< MC = 1010

n, i (i) ou
e 'R (price = AR) and

3) =

[ ﬂ|ﬁmmm&m*mw
Mtﬁmﬁw%ﬂﬁw
gafay |

3. (a) Expluin the equilibrium price, output lovel and
| profits of u firm under monopely in the long run.

Al muiiihﬁm um level of output, culeulate

{ii) amm utm pmm

|

t-‘:——

o I ———
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public ponds?

4, i) wWhat are the mnin featurcs of
A un'.i}'nlﬁ;rwi

{5.7)

an the government arrive at

(h) How ©
puhiic gnnﬂu'i

aof pravision for

(36 Rt LT ﬁgﬂm':ﬂ &1
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©(®) wwR wERE s T oreen om0 vy e
wHIE o w7

5. {n) ijiihin "ijll_'i@ln circumstances under which the
market fiilx to alloente resonrces efficicntly,

{h}) Iﬂm the concepts of bnperfeet information,

Il b e ———
W*Mﬂmh

fa) m._mwuﬁﬂ*mﬁm
w1

*6 Ix) Hqﬁ-'.' i.l-"ll';q nﬁnﬂiﬁlim wige rate detcrmined in a
competitive fimm which uses labhour as only
ﬁr&pﬁpﬁmr of production’?

(b} Tlli“wwmg, schedule nhum the different
Hﬂﬁﬂhn qu&ﬂiﬁu afl apples when different
wmtm are nmpluwﬂ

'\.

P10,

Adverse Selection and Moral Hasard — (7,8)
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Suppose the governmenl opens up a markel for
milernational trade and finds that the world price is
lower than the domestic equilibrium price. Discoss
the gains and losses in the welfare of cconomic
participants. {15

e it i e siweda we @ oS oen s
# 3y e ol ® fE Hew Few Wiy wge o @ A
1 g el 5w & wor o R A T o

{a) What is meant by & good being ‘excludable’ and
 rival in consumplion’? Enumerate the four

ikt categories of goods based on these
stic, (1)

(b} What is the supply curve in monopoly? (5}

() Pl we o el wm omim ¥ wRES dR o
w7 o el & s w owE Ao
faftr=r ift o e i

5156 3

(®) vt ¥ off wn 3 f 27

Give an cxample of a negative and a positive

externality. Explain why market outcomes are

inefficient in the presence of these cxternalities.
(7.8)

fordt w5 AWEAE U0 SR W w1 T S
e owl B oo sl ot oufeef F apm & oftom
s el

Why do firms in an oligopolistic markel structure
nol collude to maximise their profits? Discuss the
behaviour of oligopolisi firms using the game of
priseners’ dilemma, [15)

O NemfiE AR WE A wd we mmow sl
et & o wred o A e 7 dRE o gfn @
HH W aya e wv it W mmen w o W)

A glue fectory and a stecl mill emit smoke containing
chemical that is harmful if inhaled in large amounts.
Describe three ways the government might respond
to this externnlity? (15)

[

P.T.0O.




(a) Whai are the social cosgy wf monopoly a5 the
marke! structure ' comparison g perfectly
COmpelitivo im:l'uﬂn}-‘_" {R]

{b) To which type of good does the problem of “tragedy
of commons' relgte 1o Explain this problem by
EIVing en example. (7}
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(7} ﬂmw:ﬁnmﬁﬁqﬁwﬂiﬁrﬁqﬁ
= A = FA B oW R T A ST e
L= R

' 5 (a) What i& cxcess capacity? Compare the long run
equitibrium under monopolistic competition to long
run equilibrivm under perfect gompetibion. (71

(b) Discuss the concepl of phsolute advantage and
comparalive advaninge with an expmple (5]
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||fe-. The product differentiation inherent in monspelisie
competition leads to the usp of sdveriising.
Digeuss the impact of ndvertising on the ggomomia
well-heing? (15%

i i s ¥ i we fidve fmer ® s
mﬁmiumﬂMWmﬁ wvire

oo oW

5 | (200}



W = : ;
[This question paper contains 40 printed pages.]

Your Roll No...oovvinnins

Sr. No. of Question Paper ; 3495 A
Unique Paper Code 12271403

Name of the Paper . Introductory Econometrics
Name of the Course : CBCS Core

Semestar AT

Duration | 3 Hours Maximum Marks : 75

Instructions for Candidates

1

Write your Roll No. on the top immediately an receipt
of this question paper,

Answer any Five questions out of Seven, .
All questions carry equal marks

Use of simple non-programmable calculator 1s allowed.
Statistical tables are attmched for your reference.
Numbers may be rounded off to two decimal places
for all caleulations.

Answers may be written either in English or Hindi:
but the same medium should be used throughout the

paper.

P.T.O.













-







iy






















BT




s
| -
"™
. i é .
: I : B
o
- " _': ;
L a - o
J ; ] "
Wb W M WD W NE0 D o ]
i i
i
o | 3 i



















3495

40

Ll TR T
Vel 8.9 Crotial wanmn fer £ Dapiasens joan
-,
m -] s " H | L] L] L] Lt (L}
143 B i i L LF ] 14 (B L] 1] i ]
@l im i 155 L] LAT 184 142 i ¥ K|
14 T m ] 1 L b2 | FiT T L
an (e W e (E]] (B 1 i (] i
Lai (B ] 1L wir 1.8 181 i Lm (8} (K]}
LI L b ] i el 1M L L =i | L
1 1 L £n FEL] EE - 4| m L3 ] Zis
LET] 18 i K | iin bR LR i fL] 1M i
] L™ & | LE. ] (& ] [E.} (F 1] (£ La ]
i Liw (E L e idl (8 L} LET Ly R L
L 1] in FE1 =L Td7 LR im b i an
11 183 L L 128 11 W4 (] b | i
I 14 1 T84 LEE 1] (K1} Lo (F7}
i | s 1= L& 15 iT (4.]] ]
1w N L amn I ih 211 il
agl Lo L 141 L] fimt i 173
[N | I i (¥ (5] 1 14 |47
T8 L X ] & 1} 1 1. if.}
1 im bh ) 148 ki i 1 ET |
g 1 124 18 k13 =L L8] Les
il 1M 147 LR L 1= [ 1.4 i
] km LA L im (5] ] 14
L in EL] Tl B in i 2m
L] im 145 L] £ =l i L
1™ L P L Lg® €] an &l ]
Lim £ (£ 7] im 1. L [§ ] a T
im Ll aar LH iu im (1] LE
war (] an L fRi | L 4 &
8, ] i ] (F 1.m L& [EH] Lk 11
m I im im (£ L¥N 1 (FL
12 ] Hl s 1ar pT ] L 19
i BN i 1M e s ] Lt i 1]
| ¥ 188 L Iaa (] (1T L B8
i (§ ] (5. ] ] 15 L 147 (E
i 1an i L ] ] (B raa
LEo3 L =L~ ] ) aay 1 dps 13
148 L 148 Ty I Lix = L L2
| &k (gl L] L 143 1] i 124 (5}
i1 ] i bt L [ H | i ite [ 1 L
LR ] Ll 1 I 8 17 . 1 im (£
(] L i |48 14 1 (€] 1w x| Lin
m (1] 5 | (K8 (£ | iF | 4E 1.8 (8] 11
14 age iii 1A% bl ] |88 LB X ] 18
11 2 2 L EH 5 ] L] 1 L (] Ly
Ll 1. [E1] i | (1 1% n - | LN L8
LE 1.7 EF T LH 1243 5] i (N1 134 [N]}
1] RS ] 1M i i [ 134 L] 13k (K]}
I B 20 pi] | Ld ja Ly L L i)

{4000)




} This question paper contains 4 printed pages |

Your Boll NMo..cmnm

Sr. No. of Question Paper : 4440 A
Unigue Paper Code : 12275401-NC

Kame of the Paper - INDMAN economy L (GE 42)
Name of the Course : B.A. (HY/B.Sc. (H)/B. Com

(H) CBCS (Economics)-
GE (GENERIC Elective)

Semester = IV
Duration : 3 hours 30 minutes Maximum Marks : 75
In fions andida

1.  Write your Roll No. on the top immediately on receipt
of this guestion paper:

| E¥ ]

Attempt any five guestions.

Sad

All questions carry equal marks.

4. Answers may be written either in English or Hindi;
hut the same medium should be used throughout the

paper.
Bl # g A
L mw ogw-Ta o fEA @ s By e e e o s
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b

FE A
el e Wt = e i
£y e o

T W -7 = A s o A e s 3 S, S
M IR @ MESA T A R WA |

Trace the various factors responsible for Indin’s Great
Slowdown? Suggest the remedial steps required to be
taken,

A o vl %8 w Fy fedee B st @ om ang
T AT WS ST A |

What do you wnderstand by the “Great Reversal™
happening in the recent past of the Indian growth
story? What role did global factors play in the
happening of the Great Reversaf?

w7\ & B weem o # # R Y i 9
o e # ¢ i feeE S owen # s Rl 3
o sl Fed 7

“Agricultural development must address the issues of
doubling furmer’s income and {ncreasing ngriculiural
productivity,” Critically evaluate this statement.

4440 3

oy e = el ) g A wr i S S
T TR SR T R, S W AT
TEEA A

What ure the major problems in agricultural marketing?
Why are agricultural market reforms required? s thero
# trade-off hetween efficiency and equity?

oM e # pim e ww # 7 g ToR gud #
SETuEE o &7 9 SHE A0 AEEE 9 i S AR
%2

Discuss the impact ol Forgign Direct Investment (FDT}
ond Foreign Portfolio Investment (FP1D inflows on the
Indinn economy. List some of the polioy options that
the government needs (o pursue 10 boost inflows?

WA s wowem e Rt (PO st R
TEwifE e (PPl S s wwE s s Sty
T FEEE 3 AW w9 3 foy w9 faw s g
A fawwdl @ adwg At |

“Eeconomic reforms have failed to increase the pace
of growth of the Indian manufacturing sector™. In the
light of the above statement, discuss the strategies
required for better imndustrial dcvtlupmeul.{

P.T.O.
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nﬁﬁgmmﬁuﬁﬁﬁw%ﬁmmaﬁiﬁﬁrﬁﬁ'ﬁﬁm
di|3ﬁﬁm%mﬁmmﬁmﬁ?ﬁ?
o oot W = st

7 Discuss major labour market reforms and remedial
measures in addressing the irregularities that exist in
the Indian lnbour markel

&  “The services sector has emerged #s the backbone
for the Indian cconomy but has failed to generale
enough employment opportunities”. In this contexi,
explain the challenges and opportunities for India’s

services soctor.

‘ﬁmhwﬂmm%%ﬁmm#wﬁm
2, ffE = i AT T F ) A R
< ek ¥ R & Aw A S fr e s s A
el AT |

{6000}
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I.  Write vour Rall Mo, on the top immediately on recept
of this question paper.

2. Attempt all the questions. All the questions have three
parts. Answer any two parts of each question.

3. Al guestions corry. equal marks,

4. Answers mayv be written either in English or Hindi,
but the same medivm should be used throughout the

paper; i

PiTA.
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.um (@) "By mmm;y

o respond unkindly to this WQ
nni;hbwr policy.” 1s this !arup u False?

(i) What do you mean by stabilizing and
destabilizing stabilization? (5+42:5)

w) e, A e § o, R
s b e & s B e R




v '%’ it
(1) Supipone Aneteat hat ot etk ut e

T . | (i) Explain eyelically adjusted deficit.
(i) Pt =) feae sl e st 9 o C @s2e2415)

it
3. (a) Consider an econ
The official

Debit to GDP rat




3458 10 7 [P "

(¢} (i) “Wars typically bring about large budge i) v R e wR o
dsﬁ&:ts‘!;ﬁiplatn-mi._,j '

(R} e for Pt ¥ 3 s o ) ol o 2 ot v
*“"’3’ = R

(M1 i S W de s i ae
2, M2 M1 R s ol e ok
T w1 sl w2

W

i ) fed s e s

TR A W w39 3

mwymt

e wmﬂm&r{ e
S W EN W W A ETRLE -'witmm%ﬁwi-

P.T.O.
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(i) et A A A e F A g o e
ifarn

4. (a) () Distinguish between credit- driven bubbles
and optimistic expectations driven bubbles.

i) What are the various practices commercial
banks use to solve isym.mtﬁ ic information
problems? (3.544)

() () Distinguish between Friedman's and Pholps's
versions of the fooling model?

(i) What is a m@amaa“ﬂﬂ’ externality?

How do long-term a fils- impose a

mlcmeuunhmm umﬂ@-m Hm economy?

{4+3.5)

() (i) What are the common elements of the original
and the New Keyncsian approaches

(i) Explain using the ﬂmmmml
why small neminal rigidities have large
macroeconomic effeets. (2.5+5)

(i) en—ier gt ok 5
T R W s

(=)

(=) () wfen wem & sty ol dew & verwl @
#a Haw Wil

(it) mmmrwi?ﬂm&mﬁ
ﬁmnmmmﬂmﬂﬂ

) () s e gl 6 e e
Lid

(i) = @ s o i 3 g e
i 98 e S W

ﬁi-‘ﬁ Hlaeli ot convergence among

-I- ¢

T,
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the countries us & whole™ Show with the help
of a dingram how the neo :Il.u_i__i:'dl _gmit:h
model explains this phenomena. What other
predictions does this model make?

{ii) Does this prediction of the neoclassical model
explain the differences in growth rates across
the countries of the world? Discuss.

FRRTR. (456D

(b) () What are the determinants of expeoted
profitability of investment?

(if) Explain the relationship between social
infrastructure and coch of the following -
investment share of GDP, average years of
schooling, '

(i) What arc the determinants of social
infrastructurc? (3+3+1.5)

(e} (i) If the positive interest rate differential in
favour of a foreign monetary centre is 4%
per year and the foreign currency is at a
forward discount of 2% per year, roughly how

‘rawling Peg System’.
{4+3.5)

s
1S w v e )
it W ) aE A sl sy
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|, Write your Roll No. on the top immediately on receipt
of this gquestion paper.

i. The gquestion paper is divided inlo two sections

3. Auempt four questions in all, selecting twe from
Section A and two from Section B,

4.  Use of simple calculator is permitted.

5 Answers may be wntten either in English or Hindi:
but the same medium should be used throughout the

paper.
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Unique Paper Code v B2274403

Name of the Paper ¢ Principles of Macroeconomics I
Mame of the Course . BA (Prog.) Economics, DSC
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Duration | 3 Hours Maximum Marks : 73
Ins ions for Ca %
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Write your Roll No. on the top immediately on receipt
of this question paper.

Answer any 5 questions.

All guestions ere divided into Sections A and B,
Aftempl any § questions out of 7 guestions from
each of the sections. Section A has short answer
questions ond each carries 8 marks whereas Section
B cantmins long answer questions and each carries
10 marks,

Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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4124 %
e = fow Fw

1

= -1 % e B oww Byow Pl we ow o
A i |

Bt 5wl & e S

v e - 3 e - R o e
e 7w R R A e e = @ W Ay i
W ¥ vT Wl § 3w F weEe we  F A A o we
# #it wellw 10 o W

T W - T IR s o S T v 3 R, SR
T TR = e T R miEy |

SECTION — A
(wrg — =)

What determines the position of the 18 curve, given
its slope; and what causes the curve ta shift? Explain.
IS aF = A & §F # A 1S 5w 6 Baf o8 Fufen
T 7 Aoy 9% % fdw F owww oww oA i s
Why does IS curve have a negative slope? Explain
dingrammatically,

IS o WU T A w e R s f ae o

1

¥
4124 3

Under what circumstances might the LM curve be
horizontal?

W el d LM 3w dfw #ow R

Distinguish between the natural rate of unemployment
and the natural level of employment,

im#mwmﬂmﬁﬂ@ﬂmw%m
firdta it |

How: does collective bargaining affedt wage
determination? Elaborate.

Wl da nfe wwel wm oW B3 R s 30
fesrerda == =0 )

Explain the impact of decline in consumer spending
on the AD curve,

wmmzmemﬁﬂ&%mmmhuﬁﬁlqu

Why is the role of the exchange rate or the terms of
trade significant for macroeconomic analygis?

mmhﬁﬁnamwmamﬁiﬁlw
il | 27

P.TiO.
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6. Explain wmrwmmmtu%mw i

W uR WA o
st Al W B |

e

4 =A legal minimum wage may WefiEmPIoY L
Substantiate your answer 10 Wur refute the
auntement by using suitable diagrem.

& g ww T A e B
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Write your Roll No, on the top immediately on receipt
of this question paper,

I'he question paper is divided into two sections

3. Attempt five questions in all, selecting three from
Section A and two from Section B.

4. Simple caleulator is permissible

5.  Answers may be written either in English or Hindi:
but the same medium should be used throughout the
paper
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2. oEOd i wE A e 2

4 wE U i e oA 9w e g, w5 i
BH |
4, HEM FemHer o e

S HH W - I S P v s S, A
T T W v e e

SECTION A

I. {a) What is the importance of fisea] functions of the

state with respect to allocation distribution and
stabilization? Explain. {9)

{b) Discuss why imperfect competition may lead to
Pareto incfficiency especially under monopoly
market structure, ()

(%) s, fmm e PPl & s 3 wwe & et
i = w27 e

(=) P W e w sl v fi s @ v
WA B F AR TR ST W SN e wea
#i

4441 3

2. (o) What are externalities? How do these lead 1o
market failure? (6

(b} Discuss with the help of o diagram, the gains and
losses to the society from moving from a socially
inefficient level of output 10 a socially efficient
level of cutput in the presence of negative
externalities. Is & zero level of externslity socially

desirable? 9)

() = = &7 R W W A W R $
#7

() =R G It i W e e
A FEE IETRA T B AbAE w9 A e W A
e owm A@H A OB o A s el o g oame
w1 wErE A fEwm WD own weer W iR e
A w5 F aresim #7

3. (a) Many government programs boih redisiribute
income and correct 8 market failure; What are
the market failures associated with efch of these
programs?

(1) Social securily

{ii) Public elementary education 1)

B0
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{b) “In dealing with & negative externality problem,
Pigouvinn tax and Pigouvian subsidy schemes bring
an equally efficient outcome with different
distributional consequences.” Discuss. Mention two
problems associated with the Pigouvian subsidy
Program. (7+2)

() =¥ wvedt sdwa o = g wet ¥ s e
1 P 1 S wed ¥ e aete e @ o
AR W A wm ¥

(i} =rnfirs qon
(i) e wrfies finn

(®) ‘U FwweE e e A Ry ¥ fife e
site Fraitferaer aford dteeme fafiesy B wRom 2
A w e e we ¥ e =) Rt
werE Friw A gE s W o W

(#) Whai is tax incidence? What are the Yarious
alternative concepts of tax incidence? (7

(b} Explain using disgrams how introduction of a tax
into 8 competitive market creates a wedpe between
the price that buyers pay and the price that sefiers
receive in the case of (i) Unit tax (ii) Ad-valorem

. (K}

() ¢ W = 7w W w1 e dnler s
wr #7

(m) s Iedn wvd wwm w  aE Fe (i) g
Fo @i (i) v - FE S e § wiaed) aen
# w of) geNE B EO W WA A E
Fit faar @ e A W e AR A
e = #)

Write short noles on any two:

{0} Pareto optimal conditions for the provision of public
and private goods (use diagrams) (7.5}

{b) Utility possibility curve and welfare maximization
{7.5)

{c} Role of coverage and time period in the distribution
of tnx burden {7.5)

f=fl 3w Afira T fofem

() i e Pl oweEl & weae & Bwowd
ey foafem (Rl = awam W)

(w1 i fTE T A R HEEE ¢

|25 e




ey 4441 i
bebind this? mwmmm of Central
S cveniie space provided

hy pOL prndm uhlmﬂ ﬂﬂ@ﬁ“m to 2019-20
before and after devolution ﬂ"m' %)

*mﬁmmat ﬂ&'ﬁﬁhﬁ“
e

rom the implementation of Goods
). What are the distoriions
b (15)

AT B—
e mm*miﬂ“ﬁﬂ
mﬁﬁlﬁ%@wmﬂ

9. Cansider the following information sbout an econamy :

C =100 + 0.5(Y-T)

BT.O.




T T

—_—

4441 8 F-"“‘” 9
T = 100 o ¢ awim wee B, G AR mm R w7 R
G = 200 # st | Fdifea Fim
1= 100

(@) e ® aw-wa wikE WA soege (WE) @
Where € is the consumption function, G denotes : TR W U A RO =g s A w
government expenditures, T is taxes and | is planned :
invesiment, s S i

() Find the equilibrium level of output {income) by {m) TEfEE T e S it s g W) af

way of ealeulation as well as graphically, Also FER ANA mm 3t wH A A wEw H o0 TE
[ind the government expenditure multiplier and the '

; : g & F = WA A
tax multiplier. (6) =i afe W ® HAT

7 o e A T i s
th) Definc and derive the halanced budget multiplier,

)
If the government increases its expenditure and i’
taxes by 100 units each, what wauld be the impack

on the cquilibrium level of income? Cileulate. Wil] 10. (a) Discuss the rale of Finance Commission 1owards

it remain unchanged? Why or why nat? (9) B biative Fudksaiinm s how it can remove
lance in regi : in India.
F & the imbalance in regional development in
C = 100+ 0.5(Y-T I
{ : {b) Explain the difference between:
T = 100 - -
{1} Fiscal deficit and primary deficil
G =200
: s (1) Revenus deficit and effective revenue
- 1f :
deficil {3+3)
€
ol R
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{or as per DU rules)

uckions r Candidates

Write your Roell No. on the top immediately on receipi
of this question paper,

The quesiion paper consists of 8 questions.
Cuestion 1 1s COMPULSORY and carries 25 murks:

Attempt any five questions oul of guestions 2-8. Fach
question carries 10 marks

Answers may be written cither 1o English or Hindi;

but the same medium should be used throughout the

paper.
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6. (@) An ﬂmmuammamwm“m

-

cmployce experience who underwent a {raining
session. The | mmwﬁﬁmwmﬁ“ on
the Likert scale, »

ﬂwtfﬁ: &mﬁﬁ *ﬂm are m oﬁu&um m

o
Statement 5| The content. used was easy nhml R

ml:mgnd.

Statement 6 The. overall experience with the
m}ﬁmuﬁnw&mﬁﬂw&

Fach statement hs five possible responses. For &
 positive statement, the. corresponding five-point

numerical scale is s follows
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Write short notes on any two ﬁwmm‘

| ole of cthics in research

bility of a research instrument
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Each guestion has sub parts,

4. Use of simple caleulator 15 allowed.

5. Answers may be written either in English or Hindi;
but the same medium should be used throoghout the
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(h) “Cnﬂmi.ll'lﬂl intergsy g AN Ieresy on Miareg™ |
Explain thiy Slatemen, hy Using 5 Sultah|e
numerical eximple.

(4]

e} The linear correlairon cnellicien

for the
data {5 p 9BS553

J'rll']ﬂv.'irrg
¢ Anterprg the

rr:Jnlmn.thr'p

it




Hik

39297 - 8
hatwummiw variables X and ¥ nﬂ‘““’"
of the following data. (4.5}

(ar) s M&*ih*ﬁMﬂ s R

o ) me B 38w ) e A

(0] st 21 % for Yo Ay TP o9ssse
B Pt i R R R WA Xy
% dre vy o s

1 i e R A p=0,p= ] B o=l W







e

3. (a) Explain the mature and types of data used in soeial |
I science reseprely, Discuss the vmrir:I s methods of
I enalysis of quantitative dopy, ' i+
I i
’ (b} The !‘ulinwing table indicares the Percentage 3
J of residential electricity consumption fpn the, i
| United States, in 4 recent year orghnized by typel il
i , of use, {4) rom
L . B
Ty¥pt af DUge. ﬂ Ptrreurnge ] + B
Coanki 204
l n I.Ill n |
Cooling 15% -
S=e—f
' Eleetronies - 9% .
Heating 5% -
Lighting [3% I

3729

]

E Data
Sample Standard devintion 2578
Sample meay 43,80
Sample Size 27
Confidence fevel 'HI‘.'{: 3

| .
{ii} Hﬁwﬂhﬁ'ﬂmmmimi‘?

{1id) amrldhtanJyEna Lol




Refrigeration 10% =
Water Hﬂ.llinl ] 10%

Wei Cleaning 3ig

Other ' . 2
() Consiract o har epgee nd & pie chary

(i) Which graphica method do You think i
best for Portraying abaye darg?







e
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{e) Wrile significance of Boxplot in Excel. (4y

(3] T ST 100 e A

e B

(=) NPV wm R iogww d NPV e e @
fm v W SEE A

. (=) e M =

6, (&) Write the syntax in MS Excel J,:"J:nr finding Kurtosis
and alsa determine the tvpe of Kurtosis of the
fallowing data set. (4)

X |22 |26 | 62| s4 | 34 | 40 | 28 K

(b) Explain the importance of Einv:.ru.rm:::ﬂ;&.- =
Histogram. What are the advantages ind
disadvantages of using them in datafanalvsis?

B
{e) The following tlblu exhihits the relation hntwb:n'
change In temperature and sale of 1 cam. IB-I!:l

] , . d
a regre equati
tuble below, (ﬂ

lingar regréssion equation from gi

en &Hm"
H..h*

Corffieiren Bror X" TRR AT ] ﬁr .ﬂ.ﬂm

e NOSOTAL  A4BITI8 mmumummlm

- |

emm Q00 LA A TOIT BOORDTD DOOMT  QOOSSST O :' k)

e
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{ar) Kunmhﬂﬁ#ﬂﬁ?wwmﬂ‘mw .
tr Erafif 3 a2 Kurtosis % w2 o
Fffer wy

X |22 28 52!54134 40 | 23

7 haﬂﬁahﬁﬁﬂﬁn&maﬁmﬁlh

ﬁﬂﬂwﬁmaﬁmmﬂWMﬁiﬁm
7

(=) ﬁmei‘mmr Fdm A
iﬁﬁuﬂ!i;ﬂi_#-ﬂhmﬁfﬁ

| e CEloir Ee il Poal 218 H PLON H

e L0551
wiral I

+
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@ SOEONN  KEEOS 40T opgkens BL0MT  po0neT
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; (b) What do you mean by hypothesis? Is it necessary.
1o formulate hypothesis in o

very research siudy in

sochil sclences? i (6]

(3] wres deer 3 2029 L S N A
9 e (it | wifm @

132 96 11630134 |56 43 [28 45 |38 |52 [ 20
92233 ] 22]14 (33 [2]50 a5 ]33 | 35 ?

R = R pe—— |
() R, e e M,m&miﬁ
T W

i (¥) Mi.mwm-frﬂmmﬁrﬁm_
: ﬂﬁﬁ-m#mm“mi‘ '

8. Write short notes on any two of the following :

(12,5

(i) Goodness of Fit g2

(i) Equated Monthly Instalment {EMI)
(i} OLS Regression Method 't
ﬁ'ﬂﬂﬁmi‘#ﬂﬁﬂ.ﬂm'ﬂmm%-
(i} *fz R2 # sremrd ‘.,I'I
() wors il e (dpwgerd) '




\p

[ This guestion paper containg & prined pagey. ]

Your Roll No.o...
5r, No. ol Question Paper : 3478 A
Lnique Paper Cade P27 603

Name of the Paper Development E:m-::r.-uca; |

Name of the Course - CBCS LOCF Core — B.A
I (Hons.) Economicy
Semester W

[ Luraifon : 3 Hogrs Maximum! Marks - 75

Jnxt:hcrinu; fag C:lt{]iﬂn!ga

Write your Rall No. o1 the top immediately on receipt
of this question paper

-- | This paper consisiz of 8 quedtions.

Answer any five questions,

4. | The marks Tor each quedtion are wrilion

plong with
the quesfians

¥ | Answers may be written either in English of Hindi;
but the same medivm should ke esed [hroughou) phe
paper

o ® fam il |

POENUR-NE ® e R ww Ry o Paffte e gr s
Ii g fBfiam

mT.Q



2 mwm-omd s
3 feE e wE # T AR
4 TET TS W R R AEE R A

& _ﬂm~wnm~a‘ﬂm—lﬁﬁwmimﬁh
S i e o T R e e

¥

5 via the joint transtcr ﬁfiahmr
surplus from a‘hmﬁr‘!nm;mhu,ml _
-'-- mm‘rmh: Explain the i
& with the help of suituble diagrams.  (15) I
|
|




- |

3478 3

T arsfn it @ @ s sedis 3w ol

_. T sfinin & srew wemwor & e & A 81 gwwes
W A AR @ W W e i

L]

' 3. {#)'Why is fixed rent tenoncy consdered to be o
? more. elficient. gantraciual artangement thah
eharecropping? Explein using the ur_nﬁé_qtpr._uf'-
Marshaltinn inefficienty in this context. (1)

{b) How can sharecropping contract be used us o
device to sgreen tenants? @

, (1) frow oy o i ek o e 3 v
WA RS =Een W W e B ogm Al 3
W A W g 9 i s g
i I

(8] wrE ey vl feeted Rk St
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4. A prudent fund reforms policy has the ability (o
increasc overall employment and uutpﬂt in .t.h-ﬁ
u:ammg Elm:!da.te the statement usiag the nulm ion-
bisﬁi model of labour market (15)
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(i) With probability ¥ that the Joan will be
repaid with interest, probability /s that ealy
the principal will be repaid, and prohability
iy that the loan will not be repaid at all,
(3)

(1) Witk probability % the loan will be repaid
with interest, and with probability 4 the
joan will not be repaid at ail. (3

(%) W TN AR 3 w5 ffier A w1 o=
¥ \
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F‘ﬁlﬂ'ﬂ'“ﬂhfl (b} What are the aress of concern and the peeded | I
: ; i . e | Gareactions required with respect to brrigation In
:w;%wwma‘i:::&mwwiﬂm, the ladian sgriculture? I'
1A TR e

What do we mean by mcwi}cnnum'i;, stability or
balance? What has been India's record on external
balance from 1991 0 20167 "+

wﬁtmﬁwﬁmmmﬁmimﬁwmi?-_wwi
2016 W WD WRT W W W PR v m 87

What hove been the deivers of jrlmfarm-tlnn in
agriculture and allied activities ince 19917 Does this
also imply a teansformotion of the rural sector?

Explain.
19al,iwfﬁ'ﬁmﬂﬂlﬁﬁﬁ%ﬁm
v W ¥ v wew W A w e o 27
T |

{a) What are the mais arguments in favour of land
reforms? What are the factors witich affect the
success of land reforms?

o U W g e uen #7 g i
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A i e & el d e o wR s
FETE qun wE oA A7

The trejectory of the industrial sector of India since
independence has been quile sluggish in terms of f1s
comtribution (o the Gosy Domestie Product. Evaluate
Ik

mﬁmﬂmimhﬁﬂmm#

O W weRr i T #) v et

What are the major arguments in fovour of Foreign
Direet Investment (FDI) for o country? Flow has ladia
benefited from FOI after substantially spening up the
economy 1o FOI?

it w o fore s R Pl (FDI) % wer 3 g o
w A7 snlren @ velang & e wda woa we @
e pEdat @ v s s g 37

Explain (he challenges of the services-led grawth of
the Imlinn Economy citing the role of Hberallsation in
this Eectar
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7. “"There are constramts:-on pubiie, househald and

i l corporate balance sheets, ghandoning export

x srientation is-akin 1o killing the only goose Thet can

lay eggs,” Using the above siatement, gxplain whether

the trade policy adopted 1 the Indian economy i
warranted and will it wark in the future?
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§  Write short notes on any two of the faliowing
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{a} Inflation Targeling
AR W FfE s

(b Low skill manufacturing exports
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i (&) Privatisaticn theory
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4. {a) Consider a firm that is: nnnipﬁﬂﬁwe in goods (output)
-m!iwt but a sole aumﬂiar df rﬁﬂ%ﬂ; M.. B

3183 7
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fee. Tﬂh?ﬂxp‘f\ﬁﬂr competitively at Rs. 12 per i : e
ton. ' ' - A #wE uEnd & e g

f# m the equilibrium level of stecl

,ﬁn. Flow much does the (i} 5 ey

mm in emission fees? What oo

are its profits? all e g W #7 w
(ii) Beeause of technolagical innovation, there

exists a device which would reduce firm’s v T e

emissions to one unit for each ton of B wT R ke o

output. How ﬁm’:h would the firm be o

‘willing to pay for such a device?  (4,4) e RS




10 quantify the impact of changes in weather
m oncrop yields, ™

(b) Compare the demand and witlingness 1o pay itens
ﬁf'*"*‘*m-ﬁ&-’fﬁ- petrol, and air poltution?
aphica %“ﬂ consumer surpluy

%

e T .
ok, e o e b

TR ot w2 o s

ta) Suppose that a wood pulp mill i loested on the
bank nif'thg river. 'T:‘he'aﬂ'vitc mirginal cast (M)
of producing wood pulp (Rs. per tom) is given by
the function

e marginal henefit (MB) ta society of cach ton

: mlRluHsa!\'uu by

Pulp output which maximizes not
nefits,

1y the socially efficient outpug of
WP is lower than the private proir.
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(i) wmnﬁwWﬁrmm
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(i) e o o Wt A e v
e Bt -t et wR A
-l Be

mmtﬁmﬁulﬁmuw money from polluting. A

firm’s marginal savings from emitting an amount
e is given by 10 — 2¢, The two firms differ in
their impact on ambient pollution concentration,
Two units bf emissions from firm | resull in one
unit of ambient pollution. Firm 2 has twice the
impact on ambient pollution from the same amount
of emissions.

{i) What are the transler coefficients for each
of the two firms?
3
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(ii) If the marginal damage per unit of ambient
poliution hni'wnhrm {pd =1p. What
are the efficient levels of emissions and
marginal umt to each firm? Also compute
the totat imhl.nm pollution. ) (2.6
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that mc and MBI wﬂﬁu can m ﬂaﬂﬁuul
-environmental benefits in developing countries.”
Do you agree? Elaborate. (7}
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Critically examine (he cconomic siratepy of the
curren! government to achieve buck the lost
growth. Discuss in thig contex) the progress achieved
in terms of building what Arvind Subramanian

calls the “hardware and software. of economic
Success™,
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Discuss in detai| the evolution of ndian trade policy
since 1991, identifying holh (he significant progresy
made through reform and the areas where furthey
progress is required,
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The income earned by farmers from agricultural
activities has seen low to high growth in different
periads during the last three decades. In none of the
periods do farmers” income or prafitahility of farming
show any sgueere, Discuss the factors contributing 1o
such trends,

st @ ot & der fifier sl # s afafi &
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There are a few non-negotiable aspocts that any
governmen! should keep in mind before implementing

any change in agrarian pohiey. Discuss in detail these

3004 5

aspects in the Indian context and suggest the ways by
which the problems of food security and inequaliries
can be best tackled with.
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“Even aller a quarter-century of markel-oriented
reforms, why did India fail to catch up with the Asian
cconomies o cement its reputation as n successiul
industrinl nation with rising manufactured exports?”

Discuss.
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. Critically examine the status of liberalization in
services in Indis and the challenges that have plagued
this process. Do you think by further liberalization
and strategical use of the international megotiations n
services India can leverage new opportunities created

by the Covid-1% pandemic?
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7. Distinguish between Conventional and Tnconvenlionl
Monetary policy measures? Discuss various
wnconventional monetary policy measures, their key
features snd their-applications in India. (15)
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i (i} Monetary transmission mechanism
t 4 {iii} Certificate of Deposits (CDs) (15)
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